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ECS | B R~ BOE # T <3
£ NE =:] N5 =N
F H H24% | H23%& S ;?z "az% H24% | H23%& S ;?z "ﬁ% H24% | H23%& (;‘f!{f)
Z %X L # #%| 19081 19584 -503 -2.6 5,153 5,073 80 16 27.0 25.9 1.1
= A = 2,473 3,176 -703 -22.1 1,083 1,602 -519 -32.4 43.8 50.4 -6.6
i = B 1,110 1,186 -76 -6.4 451 471 -20 -4.2 40.6 39.7 0.9
F3 A F 260 376 -116 -30.9 84 350 -266 ~76.0 32.3 93.1 -60.8
= iy = 42 79 -37 ~46.8 14 21 -7 -33.3 33.3 26.6 6.7
AT MB Y 0 2 -2|  -100.0 0.0 -
& E W Y 58 70 -12 -17.1 30 15 15 100.0 51.7 214 30.3
mw fF W L 7 9 -2 -22.2 1 2 -1 -50.0 14.3 22.2 -7.9
B A E WL 6 18 -12 -66.7 2 10 -8 -80.0 33.3 55.6 -22.3
2R O™ OL 41 36 5 13.9 6 7 -1 -14.3 14.6 19.4 -4.8
m OBk ™ OL 10 43 -33 -76.7 3 7 -4 -57.1 30.0 16.3 13.7
%o AT L 6 15 -9 -60.0 1 82 -81 -98.8 16.7 546.7| -530.0
=B R EOL 231 311 -80 -25.7 128 114 14 12.3 55.4 36.7 18.7
BB L 214 530 -316 -59.6 228 366 -138 -37.7 106.5 69.1 374
I B #m L 62 94 -32 -34.0 8 23 -15 -65.2 12.9 245 -11.6
BOROE R OL 21 27 -6 -22.2 1 1 0 0.0 4.8 3.7 1.1
B E ® L 196 186 10 5.4 51 66 -15 -22.7 26.0 35.5 -9.5
z 1) fth 209 194 15 7.7 75 67 8 11.9 35.9 34.5 1.4
® Y B & 5,143 5,259 -116 -2.2 502 304 198 65.1 9.8 5.8 4.0
B 8 = X 481 724 -243 -33.6 179 63 116 184.1 37.2 8.7 285
*—5H Y 105 182 -77 -42.3 52 25 27 108.0 49.5 13.7 35.8
F —H L 376 542 -166 -30.6 127 38 89 234.2 33.8 7.0 26.8
T — kN Aa K 711 586 125 21.3 94 46 48 104.3 13.2 7.8 5.4
*—5H Y 127 139 -12 -8.6 23 20 3 15.0 18.1 14.4 3.7
F —H L 584 447 137 30.6 71 26 45 173.1 12.2 5.8 6.4
B & #H X 3,951 3,949 2 0.1 229 195 34 17.4 5.8 4.9 0.9
W H Y 1,491 1,527 -36 -2.4 79 54 25 46.3 5.3 35 1.8
Mg L 2,460 2,422 38 1.6 150 141 9 6.4 6.1 5.8 0.3
k¥ B A &E| 11465 11,149 316 2.8 3,568 3,167 401 12.7 31.1 28.4 2.7
g ) = 23 23 0 0.0 7 20 -13 -65.0 30.4 87.0 -56.6
th H B 28 15 13 86.7 17 8 9 112.5 60.7 53.3 7.4
ATMAD W
2 E R 5 L 4 5 -1 -20.0 0 1 -1 -100.0 0.0 20.0 -20.0
mE R 5 W 14 15 -1 -6.7 3 0 3 - 21.4 0.0 214
v o <Y 41 35 6 17.1 3 20 -17 -85.0 7.3 57.1 -49.8
] Y 33 40 -7 -175 7 1 6 600.0 21.2 2.5 18.7
B 5l = 1,001 873 128 14.7 137 135 2 1.5 13.7 15.5 -1.8
REHR > L 26 10 16 160.0 2 1 1 100.0 7.7 10.0 -2.3
B E L 5 W 3,041 3,000 41 1.4 1,062 559 503 90.0 34.9 18.6 16.3
W H Y 2,025 2,035 -10 -0.5 769 341 428 1255 38.0 16.8 21.2
Mo AL 1,016 965 51 5.3 293 218 75 344 28.8 22.6 6.2
I AR 1,238 1,247 -9 -0.7 248 55 193 350.9 20.0 4.4 15.6
iR iGh 5 W 83 70 13 18.6 5 2 3 150.0 6.0 2.9 3.1
BR#ta > L 428 337 91 27.0 28 28 0 0.0 6.5 8.3 -1.8
L 5 W 240 274 -34 -12.4 51 82 -31 -37.8 21.3 29.9 -8.6
IEHHR DL 217 248 -31 -125 24 71 -47 -66.2 11.1 28.6 -17.5
5B 5] = 2,118 2,249 -131 -5.8 1,387 1,585 -198 -125 65.5 70.5 -5.0
Boi5h 5 W 184 127 57 44.9 35 31 4 12.9 19.0 244 -5.4
R E 2 5 L 15 9 6 66.7 3 2 1 50.0 20.0 22.2 -2.2
z ) fta 2,731 2,572 159 6.2 549 566 -17 -3.0 20.1 22.0 -1.9
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F A 15 E! 1 i B
H244F | H234 N E'é ’”;’ H244F | H234 X E'é ”I% H244F | H234 X E'é ’m%
B X L % O 2118 2424 -306| -126| 1557| 1,785 -228] -128 561 639 -78] 122
= A = 110 148 -38] -25.7 90 127 -371  -29.1 20 21 -1 -438
2z = - 23 53 -30| -56.6 22 48 -26 -54.2 1 5 -4 -80.0
= A H 8 6 2 33.3 7 2 40.0 1 1 0 0.0
=5 z = 1 5 -4 -80.0 1 -4 -80.0
AT MIBE Y
* E B Y 3 5 -2| -400 3 5 -2| -400
mw fF W L 0 1 -1 -100.0 0 1 -1 -100.0
B A EFE R L 0 1 -1 -100.0 0 1 -1 -100.0
¥ KR W L 10 8 2 25.0 1 6 -5 -83.3 9 2 7| 3500
m Bt wm L 1 1 0 0.0 1 1 0 0.0
#w B | L 0 1 -1 -100.0 0 1 -1 -100.0
= B WL 8 13 -5 -385 6 12 -6 -50.0 2 1 1 100.0
B OE W OL 16 32 -16] -50.0 15 20 -5 -25.0 1 12 -11|  -91.7
I & 7 L 6 2 4| 2000 6 2 4| 2000
BR E &L 5 0 5 - 5 5 -
B E ® L 14 9 5 55.6 13 9 4 44.4 1 1 -
z ) fth 15 11 4 36.4 15 11 4 36.4
Zz Y B =& 203 232 -29| -125 65 74 -9l -122 138 158 -20 -127
B ®8 = X 22 21 1 48 20 18 2 11.1 2 -1 -333
*—H Y 15 13 2 15.4 14 10 4 40.0 1 -2| -66.7
F — 1 L 7 8 -1  -125 6 8 -2| -250 1 1 -
= bAoA K 57 52 5 9.6 4 0 4 - 53 52 1 1.9
*F—5H Y 29 27 7.4 29 27 2 7.4
F — 1 L 28 25 12.0 4 0 4 - 24 25 -1 -4.0
B & E & 124 159 -35| -220 41 56 -15| -26.8 83 103 -20 -19.4
M H Y 35 38 -3 -7.9 9 12 -3 -250 26 26 0 0.0
&L 89 121 -32| -264 32 44 -12| -273 57 77 -20 -26.0
k¥ £ A El 1805 2044 -239 -11.7] 1,402| 1,584 -182| -115 403 460 -57| -124
= )] = 11 7 4 57.1 7 7 0 0.0 4 0 4 -
th H &= 5 0 5 - 2 0 2 - 3 0 3 -
ATM% B L
2 E R 5 W 0 2 -2| -100.0 0 1 -1 -100.0 0 1 -1 -100.0
BE R 5 W 2 0 2 - 2 0 2 -
» o =< Y 2 2 0 0.0 2 2 0 0.0
¥ Y 5 0 5 - 5 0 5 -
B 5] = 95 100 -5 -5.0 80 83 -3 -3.6 15 17 -2 -11.8
fx B & 42 o L
H L R 5 W 27 25 2 8.0 22 20 2 10.0 5 5 0 0.0
& H Y 13 6 71 116.7 8 6 2 33.3 5 0 5 -
&L 14 19 -5 -26.3 14 14 0 0.0 0 5 -5 -100.0
i T I - SR 18 5 13|  260.0 8 2 6] 300.0 10 3 7| 2333
Bt &K 5/ 4 5 L 4 1 3| 3000 4 1 3| 3000
BER#AB S L 2 8 -6 -75.0 2 6 -4  -66.7 0 2 -2 -100.0
2 F R 5 W 10 6 4 66.7 10 6 4 66.7
IEHAB oL 8 11 -3 -273 8 11 -3 -273
p;] 5l =l 1356 1579 -223| -14.1 1015 1,172 -157| -13.4 341 407 -66] -16.2
BiE Ak 5 W 26 21 5 23.8 19 19 0 0.0 7 2 5 250.0
BB 1 5 W 3 2 1 50.0 3 2 1 50.0
z ) fth 231 275 -44| -16.0 213 252 -39 -155 18 23 -5  -21.7




